This article was downloaded by:[HEAL-Link Consortium] On: 12 July 2008 Access Details: [subscription number 772810551] Publisher: Taylor & Francis Informa Ltd Registered in England and Wales Registered Number: 1072954 Registered office: Mortimer House, 37-41 Mortimer Street, London W1T 3JH, UK



# Journal of Difference Equations and Applications

Publication details, including instructions for authors and subscription information: <u>http://www.informaworld.com/smpp/title~content=t713640037</u>

### Extended Hyers-Ulam stability for Cauchy-Jensen

#### mappings

Kil-Woung Jun <sup>a</sup>; Hark-Mahn Kim <sup>a</sup>; John Michael Rassias <sup>b</sup>

<sup>a</sup> Department of Mathematics, Chungnam National University, Daejeon, South Korea
<sup>b</sup> Pedagogical Department E.E., Section of Mathematics and Informatics, National and Capodistrian University of Athens, Athens, Greece

First Published on: 09 October 2007

To cite this Article: Jun, Kil-Woung, Kim, Hark-Mahn and Rassias, John Michael (2007) 'Extended Hyers-Ulam stability for Cauchy-Jensen mappings ', Journal of Difference Equations and Applications, 13:12, 1139 — 1153

To link to this article: DOI: 10.1080/10236190701464590 URL: <u>http://dx.doi.org/10.1080/10236190701464590</u>

#### PLEASE SCROLL DOWN FOR ARTICLE

Full terms and conditions of use: http://www.informaworld.com/terms-and-conditions-of-access.pdf

This article maybe used for research, teaching and private study purposes. Any substantial or systematic reproduction, re-distribution, re-selling, loan or sub-licensing, systematic supply or distribution in any form to anyone is expressly forbidden.

The publisher does not give any warranty express or implied or make any representation that the contents will be complete or accurate or up to date. The accuracy of any instructions, formulae and drug doses should be independently verified with primary sources. The publisher shall not be liable for any loss, actions, claims, proceedings, demand or costs or damages whatsoever or howsoever caused arising directly or indirectly in connection with or arising out of the use of this material.

Journal of Difference Equations and Applications, Vol. 13, No. 12, December 2007, 1139–1153



## Extended Hyers–Ulam stability for Cauchy–Jensen mappings†

#### KIL-WOUNG JUN<sup>‡</sup><sup>§</sup>, HARK-MAHN KIM<sup>‡</sup> and JOHN MICHAEL RASSIAS<sup>¶\*</sup>

Department of Mathematics, Chungnam National University, 220 Yuseong-Gu, Daejeon 305-764, South Korea

Pedagogical Department E.E., Section of Mathematics and Informatics, National and Capodistrian University of Athens, 4, Agamemnonos St., Aghia Paraskevi, Athens 15342, Greece

(Received 5 September 2006; in final form 18 May 2007)

In 1940, Ulam proposed the famous Ulam stability problem. In 1941, Hyers solved the well-known Ulam stability problem for additive mappings subject to the Hyers condition on approximately additive mappings. In 2003–2006, the last author of this paper investigated the Hyers–Ulam stability of additive and Jensen type mappings. In this paper, we improve results obtained in 2003 and 2005 for Jensen type mappings and establish new theorems about the Ulam stability of additive and alternative additive mappings. These stability results can be applied in stochastic analysis, financial and actuarial mathematics, as well as in psychology and sociology.

*Keywords*: Ulam stability problem; Jensen equation; Euler–Lagrange mappings; Jensen type mappings 2000 *Mathematics Subject Classification*: 39B82; 46L05; 39B52

#### 1. Introduction

In 1940 and in 1964, Ulam [31] proposed the famous Ulam stability problem:

"When is it true that by changing a little the hypotheses of a theorem one can still assert that the thesis of the theorem remains true or approximately true?"

For very general functional equations, the concept of stability for a functional equation arises when we replace the functional equation by an inequality which acts as a perturbation of the equation. Thus, the stability question of functional equations is that how do the solutions of the inequality differ from those of the given functional equation?

In 1941, Hyers [11] solved this stability problem for additive mappings subject to the Hyers condition on approximately additive mappings. In 1951, Bourgin [3] was the second author to treat the Ulam stability problem for additive mappings. In 1978, Gruber [10] remarked that Ulam's problem is of particular interest in probability theory and in the case of functional equations of different types. We wish to note that stability properties of different functional equations can have applications to unrelated fields. For instance, Zhou [32] used a stability property of the functional equation f(x - y) + f(x + y) = 2f(x) to prove

§Email: kwjun@math.cnu.ac.kr

ISSN 1023-6198 print/ISSN 1563-5120 online © 2007 Taylor & Francis http://www.tandf.co.uk/journals DOI: 10.1080/10236190701464590

<sup>\*</sup>Corresponding author. Email: jrassias@tellas.gr

<sup>†</sup>This work was supported by the Brain Korea 21 Project in 2006.

<sup>||</sup>Email: hmkim@math.cnu.ac.kr

Journal of Difference Equations and Applications

K.-W. Jun et al.

a conjecture of Z. Ditzian about the relationship between the smoothness of a mapping and the degree of its approximation by the associated Bernstein polynomials. Rassias [28] and then Găvruta [8] obtained generalized results of Hyers' Theorem which allow the Cauchy difference to be unbounded. In 1987, Gajda and Ger [7] showed that one can get analogous stability results for subadditive multifunctions. The stability problems of several functional equations have been extensively investigated by a number of authors and there are many interesting results concerning this problem. A large list of references can be found, for example, in the papers [1,4–6,12,13,29] and references therein. In 1982–2005, Rassias [17,18,20–24] established the Hyers–Ulam stability of linear and nonlinear mappings. In 2003–2006, J.M. Rassias and M.J. Rassias [25,26] and Rassias[27] solved the above Ulam problem for Jensen and Jensen type mappings. In 1999, Găvruta [9] answered a question of Rassias [19] concerning the stability of the Cauchy equation.

We note that J.M. Rassias [20, 22–23] introduced the Euler–Lagrange quadratic mappings, motivated from the following pertinent algebraic equation

$$|a_1x_1 + a_2x_2|^2 + |a_2x_1 - a_1x_2|^2 = (a_1^2 + a_2^2) \left[ |x_1|^2 + |x_2|^2 \right]$$

Thus, the third author of this paper introduced and investigated the stability problem of Ulam for the relative Euler–Lagrange functional equation

$$f(a_1x_1 + a_2x_2) + f(a_2x_1 - a_1x_2) = (a_1^2 + a_2^2)[f(x_1) + f(x_2)].$$
(1.1)

in the publications [20–22]. Analogous quadratic mappings were introduced and investigated through J.M. Rassias' publications [23,26]. Before 1992, these mappings and equations were not known at all in functional equations and inequalities. However, a completely different kind of Euler–Lagrange partial differential equations is known in calculus of variations. In this paper, we introduce Cauchy and Cauchy–Jensen mappings of Euler–Lagrange and thus generalize Ulam stability results controlled by more general mappings, by considering approximately Cauchy and Cauchy–Jensen mappings of Euler–Lagrange satisfying conditions much weaker than Hyers and J.M. Rassias conditions on approximately Cauchy and Cauchy–Jensen mappings of Euler–Lagrange. These stability results can be applied in stochastic analysis [16], financial and actuarial mathematics, as well as in psychology and sociology.

Throughout this paper, let *X* be a real normed space and *Y* a real Banach space in the case of functional inequalities, as well as let *X* and *Y* be real linear spaces for functional equations. Besides let us denote by  $\mathbb{N}$  the set of all natural numbers and  $\mathbb{R}$  the set of all real numbers.

**DEFINITION 1.1.** A mapping  $f: X \rightarrow Y$  is called additive if f satisfies the functional equation

$$A(x + y) = A(x) + A(y)$$
(1.2)

for all  $x, y \in X$ . We note that the equation (1.2) is equivalent to the Jensen equation

$$2A\left(\frac{x+y}{2}\right) = A(x) + A(y)$$

for all  $x, y \in X$  and A(0) = 0.

Extended Hyers–Ulam stability

1141

Now, we consider a mapping  $A: X \rightarrow Y$ , which may be analogously called Euler–Lagrange additive, satisfying the functional equation

$$A(ax + by) + A(bx + ay) = (a + b)[A(x) + A(y)]$$
(1.3)

for all  $x, y \in X$ , where  $a, b \in \mathbb{R}$  are nonzero fixed reals with  $a + b \neq 0$ . Next, we consider a mapping  $A: X \to Y$  of Euler–Lagrange satisfying the functional equation

$$A(ax + by) + A(ax - by) = 2aA(x)$$

$$(1.4)$$

which is equivalent to the equation of Jensen type

$$A(x) + A(y) = 2aA\left(\frac{x+y}{2a}\right)$$

for all  $x, y \in X$ , where  $a, b \in \mathbb{R}$  are nonzero fixed reals. It is easy to see that the equation (1.4) together with A(0) = 0 is equivalent to the equation (1.2). Alternatively, we investigate the functional equation of Euler–Lagrange

$$A(ax + by) - A(ax - by) = 2bA(y)$$
 (1.5)

for all  $x, y \in X$ . We note that the equation (1.5) is equivalent to the equation

$$A(x) - A(y) = 2bA\left(\frac{x - y}{2b}\right)$$
(1.6)

for all  $x, y \in X$ , where  $a, b \in \mathbb{R}$  are nonzero fixed reals. It follows that the equation (1.5) is equivalent to the equation (1.2).

#### 2. Stability of Euler-Lagrange additive mappings

We will investigate under what conditions it is then possible to find a true Euler-Lagrange additive mapping near an approximate Euler-Lagrange additive mapping with small error. We note that if  $\lambda = 1$  in the next two theorems, then the mapping  $\varphi$  is identically zero by the convergence of series and thus f is itself the solution of the equation (1.3). Thus, we may assume without loss of generality that  $\lambda \neq 1$  in these theorems.

THEOREM 2.1. Assume that there exists a mapping  $\varphi : X^2 \to [0, \infty)$  for which a mapping  $f: X \to Y$  satisfies the inequality

$$\|f(ax + by) + f(bx + ay) - (a + b)[f(x) + f(y)]\| \le \varphi(x, y)$$
(2.1)

and the series

$$\sum_{i=0}^{\infty} \frac{\varphi(\lambda^{i}x, \lambda^{i}y)}{|\lambda|^{i}} < \infty$$
(2.2)

for all  $x, y \in X$ , where  $\lambda := a + b$ . Then, there exists a unique Euler–Lagrange additive mapping  $A: X \to Y$  which satisfies the equation (1.3) and the inequality

$$\|f(x) - A(x)\| \le \frac{1}{2|\lambda|} \sum_{i=0}^{\infty} \frac{\varphi(\lambda^{i}x, \lambda^{i}x)}{|\lambda|^{i}}$$
(2.3)

for all  $x \in X$ .

#### K.-W. Jun et al.

*Proof.* Substituting x, y := x in the functional inequality (2.1), we obtain

$$2\|f(\lambda x) - \lambda f(x)\| \le \varphi(x, x), \quad \left\|f(x) - \frac{f(\lambda x)}{\lambda}\right\| \le \frac{1}{2|\lambda|}\varphi(x, x)$$
(2.4)

for all  $x \in X$ . Therefore from (2.4) with  $\lambda^{i}x$  in place of x (i = 1, ..., n - 1) and iterative method, one gets

$$\left\| f(x) - \frac{f(\lambda^n x)}{\lambda^n} \right\| \le \frac{1}{2|\lambda|} \sum_{i=0}^{n-1} \frac{\varphi(\lambda^i x, \lambda^i x)}{|\lambda|^i}$$
(2.5)

for all  $x \in X$  and all  $n \in \mathbb{N}$ . By (2.5), for any  $n > m \ge 0$  we have

$$\left|\frac{f(\lambda^m x)}{\lambda^m} - \frac{f(\lambda^n x)}{\lambda^n}\right\| \le \frac{1}{|\lambda|^m} \left\| f(\lambda^m x) - \frac{f(\lambda^{n-m}\lambda^m x)}{\lambda^{n-m}} \right\| \le \frac{1}{2|\lambda|} \sum_{i=0}^{n-m-1} \frac{\varphi(\lambda^{i+m} x, \lambda^{i+m} x)}{|\lambda|^{i+m}},$$

which tends to zero as *m* tends to infinity. Thus, it follows that a sequence  $\{(f(\lambda^n x))/(\lambda^n)\}$  is Cauchy in *Y* and it thus converges. Therefore, we see that a mapping  $A: X \to Y$  defined by

$$A(x) := \lim_{n \to \infty} \frac{f(\lambda^n x)}{\lambda^n} = \lim_{n \to \infty} \frac{f((a+b)^n x)}{(a+b)^n}$$

exists for all  $x \in X$ . In addition, it is clear from (2.1) that the following inequality

$$\begin{split} \|A(ax+by) + A(bx+ay) - (a+b)[A(x) + A(y)]\| \\ &= \lim_{n \to \infty} |\lambda|^{-n} \|f(\lambda^n(ax+by)) + f(\lambda^n(bx+ay)) - (a+b)[f(\lambda^n x) + f(\lambda^n y)]\| \\ &\leq \lim_{n \to \infty} |\lambda|^{-n} \varphi(\lambda^n x, \lambda^n y) = 0 \end{split}$$

holds for all  $x, y \in X$ . Thus, taking the limit  $n \to \infty$  in (2.5), we find that the mapping A is Euler-Lagrange additive mapping satisfying the inequality (2.3) near the approximate mapping  $f: X \to Y$  of the equation (1.3).

To prove the afore-mentioned uniqueness, we assume now that there is another Euler–Lagrange additive mapping  $\check{A} : X \to Y$  which satisfies the equation (1.3) and the inequality (2.3). Then, it follows easily that by setting y := x in (1.3) we get

$$A(x) = \lambda^{-n} A(\lambda^n x), \quad \dot{A}(x) = \lambda^{-n} \dot{A}(\lambda^n x)$$

for all  $x \in X$  and all  $n \in \mathbb{N}$ . Thus from the last equality and (2.3) one proves that

$$\begin{split} \|A(x) - \check{A}(x)\| &= \frac{1}{|\lambda|^n} \|A(\lambda^n x) - \check{A}(\lambda^n x)\| \\ &\leq \frac{1}{|\lambda|^n} (\|A(\lambda^n x) - f(\lambda^n x)\| + \|f(\lambda^n x) - \check{A}(\lambda^n x)\|) \\ &\leq \sum_{i=0}^{\infty} \frac{\varphi(\lambda^{i+n} x, \lambda^{i+n} x)}{|\lambda|^{i+n+1}} \end{split}$$

for all  $x \in X$  and all  $n \in \mathbb{N}$ . Therefore from  $n \to \infty$ , one establishes

$$A(x) - \check{A}(x) = 0$$

for all  $x \in X$ , completing the proof of uniqueness.

THEOREM 2.2. Assume that there exists a mapping  $\varphi : X^2 \to [0, \infty)$  for which a mapping  $f: X \to Y$  satisfies the inequality

$$||f(ax + by) + f(bx + ay) - (a + b)[f(x) + f(y)]|| \le \varphi(x, y)$$

and the series

$$\sum_{i=1}^{\infty} |\lambda|^i \varphi \left( \frac{x}{\lambda^i}, \frac{y}{\lambda^i} \right) < \infty$$

for all  $x, y \in X$ , where  $\lambda := a + b$ . Then there exists a unique Euler–Lagrange additive mapping  $A : X \to Y$  which satisfies the equation (1.3) and the inequality

$$\|f(x) - A(x)\| \le \frac{1}{2|\lambda|} \sum_{i=1}^{\infty} |\lambda|^i \varphi\left(\frac{x}{\lambda^i}, \frac{x}{\lambda^i}\right)$$

for all  $x \in X$ .

We obtain the following corollary concerning the stability for approximately Euler– Lagrange additive mappings in terms of a product of powers of norms.

COROLLARY 2.3. If a mapping  $f: X \rightarrow Y$  satisfies the functional inequality

$$\|f(ax + by) + f(bx + ay) - (a + b)[f(x) + f(y)]\| \le \delta \|x\|^{\alpha} \|y\|^{\beta}$$

for all  $x, y \in X$  ( $X \setminus \{0\}$  if  $\alpha, \beta \leq 0$ ) and for some fixed  $\alpha, \beta \in \mathbb{R}$ , such that  $\rho: \alpha + \beta \in \mathbb{R}$ ,  $\rho \neq 1$ ,  $\lambda := a + b \neq 1$  and  $\delta \geq 0$ , then there exists a unique Euler–Lagrange additive mapping  $A: X \to Y$  which satisfies the equation (1.3) and the inequality

$$\||f(x) - A(x)\| \le \begin{cases} \frac{\delta \|x\|^{\rho}}{2(|\lambda| - |\lambda|^{\rho})}, & \text{if } |\lambda| > 1, \rho < 1, (|\lambda| < 1, \rho > 1, )\\ \frac{\delta \|x\|^{\rho}}{2(|\lambda|^{\rho} - |\lambda|)}, & \text{if } |\lambda| > 1, \rho > 1, (|\lambda| < 1, \rho < 1) \end{cases}$$

for all  $x \in X$  (X\{0} if  $\rho \le 0$ ). The mapping A is defined by the formula

$$A(x) = \begin{cases} \lim_{n \to \infty} \frac{f(\lambda^n x)}{\lambda^n}, & \text{if } |\lambda| > 1, \rho < 1, (|\lambda| < 1, \rho > 1,) \\ \lim_{n \to \infty} \lambda^n f\left(\frac{x}{\lambda^n}\right), & \text{if } |\lambda| > 1, \rho > 1, (|\lambda| < 1, \rho < 1) \end{cases}$$

Now we are going to investigate the stability problem of the Euler-Lagrange type equation (1.4). Similarly, we remark that if  $\lambda = 1$  in the next two theorems, then the mapping  $\varphi$  is identically zero by the convergence of series and thus *f* is itself the solution of the equation (1.4). Thus, we may assume without loss of generality that  $\lambda \neq 1$  in these theorems.

THEOREM 2.4. Assume that there exists a mapping  $\varphi : X^2 \to [0, \infty)$  for which a mapping  $f: X \to Y$  satisfies the inequality

$$\|f(ax + by) + f(ax - by) - 2af(x)\| \le \varphi(x, y)$$
(2.6)

and the series

$$\sum_{i=0}^{\infty} \frac{\varphi(\lambda^{i}x, \lambda^{i}y)}{|\lambda|^{i}} < \infty$$
(2.7)

K.-W. Jun et al.

for all x,  $y \in X$ , where  $\lambda := 2a \neq 1$ . Then, there exists a unique additive mapping  $A : X \to Y$  of Euler–Lagrange which satisfies the equation (1.4) and the inequality

$$\left\| f(x) - \frac{f(0)}{\lambda - 1} - A(x) \right\| \le \frac{1}{|\lambda|} \sum_{i=0}^{\infty} \frac{\varphi(\lambda^{i} x, \frac{a}{b} \lambda^{i} x)}{|\lambda|^{i}}$$

for all  $x \in X$ . If, moreover, f is measurable or f(tx) is continuous in t for each fixed  $x \in X$ then A(tx) = tA(x) for all  $x \in X$  and  $t \in \mathbb{R}$ .

*Proof.* Substituting (x, y) for (x, (a/b)x) in the functional inequality (2.6), we obtain

$$\|f(2ax) + f(0) - 2af(x)\| \le \varphi\left(x, \frac{a}{b}x\right), \quad \left\|g(x) - \frac{g(2ax)}{2a}\right\| \le \frac{1}{2|a|}\varphi\left(x, \frac{a}{b}x\right), \quad (2.8)$$

for all  $x \in X$ , where g(x) := f(x) - f(0)/(2a - 1). From (2.8), one gets

$$\left\| g(x) - \frac{g(\lambda^n x)}{\lambda^n} \right\| \le \frac{1}{|\lambda|} \sum_{i=0}^{n-1} \frac{\varphi(\lambda^i x, \frac{a}{b} \lambda^i x)}{|\lambda|^i}$$
(2.9)

for all  $x \in X$  and all  $n \in \mathbb{N}$ . Thus, it follows from (2.7) that a sequence  $\{\lambda^{-n}g(\lambda^n x)\}$  is Cauchy in *Y* and it thus converges. Therefore, we see that a mapping  $A: X \to Y$  defined by

$$A(x) := \lim_{n \to \infty} \frac{g(\lambda^n)}{\lambda^n} = \lim_{n \to \infty} \frac{f(\lambda^n)}{\lambda^n}$$

exists for all  $x \in X$ . We observe that A(0) = 0 since  $f(0) = 0 = \varphi(0, 0)$  by the convergence of (2.7) if  $\lambda = -1$  or  $|\lambda| < 1$ , and that A(0) = 0 by the definition of A if  $|\lambda| > 1$ . Utilizing the last functional inequality (2.9) and the similar argument to Theorem 2.1, we can obtain the conclusion of this theorem.

The proof of the last assertion in our Theorem 2.4 is obvious according to J.M. Rassias work [17].  $\hfill \square$ 

THEOREM 2.5. Assume that there exists a mapping  $\varphi : X^2 \to [0, \infty)$  for which a mapping  $f: X \to Y$  satisfies the inequality

$$\|f(ax+by) + f(ax-by) - 2af(x)\| \le \varphi(x,y)$$

and the series

$$\sum_{i=1}^{\infty} |\lambda|^{i} \varphi\left(\frac{x}{\lambda^{i}}, \frac{y}{\lambda^{i}}\right) < \infty$$
(2.10)

for all  $x, y \in X$ , where  $\lambda := 2a \neq 1$ . Then, there exists a unique additive mapping  $A:X \to Y$  of *Euler–Lagrange which satisfies the equation* (1.4) *and the inequality* 

$$\left\| f(x) - \frac{f(0)}{\lambda - 1} - A(x) \right\| \le \frac{1}{|\lambda|} \sum_{i=1}^{\infty} |\lambda|^{i} \varphi\left(\frac{x}{\lambda^{i}}, \frac{a}{b} \frac{x}{\lambda^{i}}\right)$$

for all  $x \in X$ . If, moreover, f is measurable or f(tx) is continuous in t for each fixed  $x \in X$ then A(tx) = tA(x) for all  $x \in X$  and  $t \in \mathbb{R}$ .

COROLLARY 2.6. If a mapping  $f: X \rightarrow Y$  satisfies the functional inequality

$$||f(ax + by) + f(ax - by) - 2af(x)|| \le \delta ||x||^{\alpha} ||y||^{\beta}$$

for all  $x, y \in X$  ( $X \setminus \{0\}$  if  $\alpha, \beta \leq 0$ ) and for some fixed  $\alpha, \beta \in \mathbb{R}$ , such that  $\rho \coloneqq \alpha + \beta \in \mathbb{R}$ ,  $\rho \neq 1$ ,  $\lambda \coloneqq 2a \neq 1$  and  $\delta \geq 0$ , then there exists a unique additive mapping  $A: X \to Y$  of Euler–Lagrange which satisfies the equation (1.4) and the inequality

$$\left\| f(x) - \frac{f(0)}{2a-1} - A(x) \right\| \leq \begin{cases} \left| \frac{a}{b} \right|^{\beta} \frac{\delta \|x\|^{\rho}}{|\lambda| - |\lambda|^{\rho}}, & \text{if } |\lambda| > 1, \rho < 1, (|\lambda| < 1, \rho > 1, ) \\ \left| \frac{a}{b} \right|^{\beta} \frac{\delta \|x\|^{\rho}}{|\lambda|^{\rho} - |\lambda|}, & \text{if } |\lambda| > 1, \rho > 1, (|\lambda| < 1, \rho < 1) \end{cases}$$
  
for all  $x \in X(X \setminus \{0\} \text{ if } \rho \le 0).$ 

We will investigate under what conditions it is then possible to find a true additive Euler– Lagrange mapping of equation (1.5) near an approximate additive Euler–Lagrange mapping of equation (1.5) with small error.

THEOREM 2.7. Assume that there exists a mapping  $\varphi : X^2 \to [0, \infty)$  for which a mapping  $f: X \to Y$  satisfies the inequality

$$\|f(ax+by) - f(ax-by) - 2bf(y)\| \le \varphi(x,y)$$

and the series

$$\sum_{i=0}^{\infty} \frac{\varphi(\lambda^{i}x, \lambda^{i}y)}{|\lambda|^{i}} < \infty \quad \left(\sum_{i=1}^{\infty} |\lambda|^{i} \varphi(\lambda^{-i}x, \lambda^{-i}y) < \infty, \quad respectively\right)$$

for all  $x, y \in X$ , where  $\lambda := 2b \neq 1$ . Then, there exists a unique additive mapping  $A: X \to Y$  of Euler–Lagrange which satisfies the equation (1.5) and the inequality

$$\left\| f(x) + \frac{f(0)}{\lambda - 1} - A(x) \right\| \leq \frac{1}{|\lambda|} \sum_{i=0}^{\infty} \frac{\varphi(\frac{b}{a}\lambda^{i}x, \lambda^{i}x)}{|\lambda|^{i}}$$
$$\left( \left\| f(x) + \frac{f(0)}{\lambda - 1} - A(x) \right\| \leq \frac{1}{|\lambda|} \sum_{i=1}^{\infty} |\lambda|^{i} \varphi\left(\frac{b}{a}\lambda^{-i}x, \lambda^{-i}x\right), \quad respectively \right)$$

for all  $x \in X$ . If, moreover, f is measurable or f(tx) is continuous in t for each fixed  $x \in X$ then A(tx) = tA(x) for all  $x \in X$  and  $t \in \mathbb{R}$ .

*Proof.* The proof of this theorem is similar to that of Theorem 2.1 and Theorem 2.4.  $\Box$ 

COROLLARY 2.8. If a mapping  $f: X \rightarrow Y$  satisfies the functional inequality

$$||f(ax + by) - f(ax - by) - 2bf(y)|| \le \delta ||x||^{\alpha} ||y||^{\beta}$$

for all  $x, y \in X$  ( $X \setminus \{0\}$  if  $\alpha, \beta \leq 0$ ) and for some fixed  $\alpha, \beta \in \mathbb{R}$ , such that  $\rho \coloneqq \alpha + \beta \in \mathbb{R}$ ,  $\rho \neq 1$ ,  $\lambda \coloneqq 2b \neq 1$  and  $\delta \geq 0$ , then there exists a unique additive mapping  $A: X \to Y$  of Euler–Lagrange which satisfies the equation (1.5) and the inequality

$$\left\| f(x) + \frac{f(0)}{\lambda - 1} - A(x) \right\| \le \begin{cases} \left| \frac{b}{a} \right|^{\alpha} \frac{\delta \|x\|^{\rho}}{|\lambda| - |\lambda|^{\rho}}, & \text{if } |\lambda| > 1, \rho < 1, (|\lambda| < 1, \rho > 1, ) \\ \left| \frac{b}{a} \right|^{\alpha} \frac{\delta \|x\|^{\rho}}{|\lambda|^{\rho} - |\lambda|}, & \text{if } |\lambda| > 1, \rho > 1, (|\lambda| < 1, \rho < 1) \end{cases}$$

for all  $x \in X(X \setminus \{0\} \text{ if } \rho \leq 0)$ .

K.-W. Jun et al.

#### 3. C\*-algebra isomorphisms between unital C\*-algebras

Throughout this section, assume that  $\mathcal{A}$  and  $\mathcal{B}$  are unital  $C^*$ -algebras. Let  $U(\mathcal{A})$  the unitary group of  $\mathcal{A}$ ,  $\mathcal{A}_{in}$  the set of invertible elements in  $\mathcal{A}$ ,  $\mathcal{A}_{sa}$  the set of self-adjoint elements in  $\mathcal{A}$ ,  $\mathcal{A}_1 := \{a \in \mathcal{A} : |a| = 1\}$ ,  $\mathcal{A}^+$  the set of positive elements in  $\mathcal{A}$ . As an application, we are going to investigate  $C^*$ -algebra isomorphisms between unital  $C^*$ -algebras. We denote  $\mathbb{N}_0$  by the set of nonnegative integers.

THEOREM 3.1. Let  $h: \mathcal{A} \to \mathcal{B}$  be a bijective mapping with h(0) = 0 for which there exist mappings  $\varphi: \mathcal{A}^2 \to \mathbb{R}^+ := [0, \infty)$  satisfying (2.7),  $\psi_1: \mathcal{A} \times \mathcal{A} \to \mathbb{R}^+$ , and  $\psi: \mathcal{A} \to \mathbb{R}^+$  such that

$$\|h(a\mu x + b\mu y) + h(a\mu x - b\mu y) - 2a\mu h(x)\| \le \varphi(x, y), \tag{3.1}$$

$$\|h(\lambda^n ux) - h(\lambda^n u)h(x)\| \le \psi_1(\lambda^n u, x),$$
(3.2)

$$\|h(\lambda^n u^*) - h(\lambda^n u)^*\| \le \psi(\lambda^n u)$$
(3.3)

for all  $\mu \in S^1 := \{\mu \in \mathbb{C} : |\mu| = 1\}$ , all  $u \in U(\mathcal{A})$ , all  $x, y \in \mathcal{A}$  and all  $n \in \mathbb{N}_0$ , where  $\lambda := 2a \neq 1$ . Assume that

$$\lim_{n \to \infty} \lambda^{-n} \psi_1(\lambda^n u, x) = 0, \text{ for all } u \in U(\mathcal{A}), x \in \mathcal{A},$$
(3.4)

$$\lim_{n \to \infty} \lambda^{-n} \psi(\lambda^n u) = 0, \text{ for all } u \in U(\mathcal{A}),$$
(3.5)

$$\lim_{n \to \infty} \lambda^{-n} h(\lambda^n u_0) \in \mathcal{B}_{\text{in}}, \text{ for some } u_0 \in \mathcal{A}.$$
(3.6)

Then the bijective mapping  $h : A \rightarrow B$  is in fact a C\*-algebra isomorphism.

*Proof.* Consider the *C*\*-algebras  $\mathcal{A}$  and  $\mathcal{B}$  as Banach left modules over the unital *C*\*-algebra  $\mathbb{C}$ . From (2.7), (3.1) with  $\mu = 1$  and by Theorem 2.4, there exists a unique mapping  $H : \mathcal{A} \to \mathcal{B}$ , defined by  $H(x) := \lim_{n \to \infty} \lambda^{-n} h(\lambda^n x)$ , satisfying the equation (1.4) and the inequality

$$\|h(x) - H(x)\| \le \frac{1}{|\lambda|} \sum_{i=0}^{\infty} \frac{\varphi(\lambda^{i} x, \frac{a}{b} \lambda^{i} x)}{|\lambda|^{i}}$$
(3.7)

for all  $x \in A$ . We claim that the mapping H is  $\mathbb{C}$ -linear. For this, putting y := 0 in (1.4) one has H(ax) = aH(x) for all  $x \in A$ . Now replacing y by (ay/b) in (1.4) we get H(ax + ay) +H(ax - ay) = 2aH(x) and so H(x + y) + H(x - y) = 2H(x), which means that H is additive. On the other hand, we obtain by (2.7) and (3.1) that  $H(a\mu x + b\mu y) + H(a\mu x - b\mu y) 2a\mu H(x) = 0$  for all  $x, y \in A$  and so

$$H(\mu x) - \mu H(x) = 0$$
(3.8)

for all  $x \in A$  and all  $\mu \in S^1 = U(\mathbb{C})$ . Now, let  $\eta$  be a nonzero element in  $\mathbb{C}$  and K a positive integer greater than  $4|\eta|$ . Then, we have  $|(\eta/K)| < (1/4) < 1 - (2/3)$ . By Ref. [14, Theorem 1], there exist three elements  $\mu_1, \mu_2, \mu_3 \in S^1$  such that  $3(\eta/K) = \mu_1 + \mu_2 + \mu_3$ . Thus, we calculate by (3.8)

$$H(\eta x) = H\left(\frac{K}{3} \cdot 3\frac{\eta}{K}x\right) = \left(\frac{K}{3}\right)H(\mu_1 x + \mu_2 x + \mu_3 x)$$
$$= \left(\frac{K}{3}\right)(H(\mu_1 x) + H(\mu_2 x) + H(\mu_3 x))$$
$$= \left(\frac{K}{3}\right)(\mu_1 + \mu_2 + \mu_3)H(x) = \left(\frac{K}{3}\right)\cdot 3\frac{\eta}{K}g(x) = \eta H(x)$$

for all  $\eta \in \mathbb{C}(\eta \neq 0)$  and all  $x \in \mathcal{A}$ . So the unique mapping  $H : \mathcal{A} \to \mathcal{B}$  is  $\mathbb{C}$ -linear mapping, as desired.

By (3.3) and (3.5), we have

$$H(u^*) = \lim_{n \to \infty} \lambda^{-n} h(\lambda^n u^*) = \lim_{n \to \infty} \lambda^{-n} h(\lambda^n u)^* = \left(\lim_{n \to \infty} \lambda^{-n} h(\lambda^n u)\right)^* = H(u)^*$$
(3.9)

for all  $u \in U(\mathcal{A})$ . Since each  $x \in \mathcal{A}$  is a finite linear combination of unitary elements ([15, Theorem 4.1.7]), i.e.  $x = \sum_{j=1}^{m} c_j u_j$  ( $c_j \in \mathbb{C}$ ,  $u_j \in U(\mathcal{A})$ ), we get by (3.9)

$$H(x^*) = H\left(\sum_{j=1}^{m} \bar{c}_j u_j^*\right) = \sum_{j=1}^{m} \bar{c}_j H(u_j^*) = \sum_{j=1}^{m} \bar{c}_j H(u_j)^* = \left(\sum_{j=1}^{m} c_j H(u_j)\right)$$
$$= H\left(\sum_{j=1}^{m} c_j u_j\right) = H(x)^*$$

for all  $x \in A$ . So the mapping *H* is preserved by involution.

Using the relations (3.2) and (3.4), we get

$$H(ux) = \lim_{n \to \infty} \lambda^{-n} h(\lambda^n ux) = \lim_{n \to \infty} \lambda^{-n} h(\lambda^n u) h(x) = H(u) h(x)$$
(3.10)

for all  $u \in U(A)$  and all  $x \in A$ . On the other hand, it follows from (3.10) and the additivity of *H* that the equation

$$H(ux) = \lambda^{-n} H(\lambda^n ux) = \lambda^{-n} H(u\lambda^n x) = \lambda^{-n} H(u)h(\lambda^n x) = H(u)\lambda^{-n}h(\lambda^n x)$$

holds for all  $u \in U(\mathcal{A})$  and all  $x \in \mathcal{A}$ . Taking the limit as  $n \to \infty$  in the last equation, we obtain

$$H(ux) = H(u)H(x) \tag{3.11}$$

for all  $u \in U(\mathcal{A})$  and all  $x \in \mathcal{A}$ . Now, let  $z \in \mathcal{A}$  be an arbitrary element. Then  $z = \sum_{j=1}^{m} c_j u_j$  $(c_j \in \mathbb{C}, u_j \in U(\mathcal{A}))$ , and it follows from (3.10) that

$$H(zx) = H\left(\sum_{j=1}^{m} c_{j}u_{j}x\right) = \sum_{j=1}^{m} c_{j}H(u_{j}x) = \sum_{j=1}^{m} c_{j}H(u_{j})h(x)$$
$$= H\left(\sum_{j=1}^{m} c_{j}u_{j}\right)h(x) = H(z)h(x)$$
(3.12)

K.-W. Jun et al.

for all  $z, x \in A$ . Using the similar argument to (3.11), we see that

$$H(zx) = H(z)H(x) \tag{3.13}$$

for all  $z, x \in A$ . Hence, the mapping *H* is multiplicative.

Finally, it follows from (3.12) and (3.13) that

$$H(u_0)H(x) = H(u_0x) = H(u_0)h(x)$$

for all  $x \in A$ . Since  $H(u_0) = \lim_{n \to \infty} \lambda^{-n} h(\lambda^n u_0)$  is invertible by (3.6), we see that H(x) = h(x) for all  $x \in A$ . Hence, the bijective mapping  $h : A \to B$  is in fact a *C*\*-algebra isomorphism, as desired.

THEOREM 3.2. Let  $h : A \to B$  be a bijective mapping satisfying h(0) = 0 and (3.6) for which there exist a mapping  $\varphi : A^2 \to R^+$  satisfying (2.7), and mappings  $\psi_1, \psi$  such that

$$\begin{aligned} \|h(a\mu x + b\mu y) + h(a\mu x - b\mu y) - 2a\mu h(x)\| &\leq \varphi(x, y), \\ \|h(\lambda^n u x) - h(\lambda^n u)h(x)\| &\leq \psi_1(\lambda^n u, x), \\ \|h(\lambda^n u^*) - h(\lambda^n u)^*\| &\leq \psi(\lambda^n u) \end{aligned}$$
(3.15)

for all  $\mu \in S^1 := \{\mu \in \mathbb{C} : |\mu| = 1\}$ , all  $u \in \mathcal{A}_1^+ \cup \{i\}$  and all  $x, y \in \mathcal{A}$  and all  $n \in \mathbb{N}_0$ . Assume that

$$\lim_{n \to \infty} \lambda^{-n} \psi_1(\lambda^n u, x) = 0, \text{ for all } u \in \mathcal{A}_1^+ \cup \{i\}, \text{ all } x \in \mathcal{A},$$
(3.16)

$$\lim_{n \to \infty} \lambda^{-n} \psi(\lambda^n u) = 0, \text{ for all } u \in \mathcal{A}_1^+ \cup \{i\}.$$
(3.17)

Then the bijective mapping  $h : A \rightarrow B$  is in fact a C\*-algebra isomorphism.

*Proof.* By the same reasoning as in the proof of Theorem 3.1, there exists a unique  $\mathbb{C}$ -linear mapping  $H : \mathcal{A} \to \mathcal{B}$ , defined by  $H(x) := \lim_{n \to \infty} \lambda^{-n} h(\lambda^n x)$ , satisfying the equation (1.4) and the functional inequality (3.7).

By (3.15) and (3.17), we have  $H(u^*) = H(u)^*$  for all  $u \in A_1^+ \cup \{i\}$ , and so

$$H(v^*) = H\left(|v| \cdot \frac{v^*}{|v|}\right) = |v| H\left(\frac{v^*}{|v|}\right) = \left[|v| H\left(\frac{v}{|v|}\right)\right]^* = H(v)^*$$
(3.18)

for all nonzero  $v \in A^+ \cup \{i\}$ . Now, for any element  $v \in A$ ,  $v = v_1 + iv_2$ , where  $v_1, v_2 \in A_{sa}$ ; furthermore,  $v = v_1^+ - v_1^- + iv_2^+ - iv_2^-$ , where  $v_1^+, v_1^-, v_2^+$  and  $v_2^-$  are all positive elements (see [2, Lemma 38.8]). Since *H* is  $\mathbb{C}$ -linear, we figure out by (3.18)

$$H(v^*) = H\left(\left(v_1^+ - v_1^- + iv_2^+ - iv_2^-\right)^*\right)$$
$$= H\left(v_1^+\right)^* - H\left(v_1^-\right)^* + H\left(\left(iv_2^+\right)^*\right) - H\left(\left(iv_2^-\right)^*\right)$$
$$= H\left(v_1^+\right)^* - H\left(v_1^-\right)^* - iH\left(v_2^+\right)^* + iH\left(v_2^-\right)^*$$
$$= \left[H\left(v_1^+ - v_1^- + iv_2^+ - iv_2^-\right)\right]^* = H(v)^*$$

for all  $v \in \mathcal{A}$ .

Extended Hyers–Ulam stability

Using (3.14) and (3.16), we get H(ux) = H(u)h(x) for all  $u \in \mathcal{A}_1^+ \cup \{i\}$  and all  $x \in \mathcal{A}$ , and so H(vx) = H(v)h(x) for all  $v \in \mathcal{A}^+ \cup \{i\}$  and all  $x \in \mathcal{A}$  because

$$H(vx) = H\left(|v|\frac{v}{|v|} \cdot x\right) = |v|H\left(\frac{v}{|v|} \cdot x\right)$$
  
$$= |v|H\left(\frac{v}{|v|}\right) \cdot h(x) = H(v)h(x), \quad \forall v \in \mathcal{A}^+.$$
  
(3.19)

Now, for any element  $v \in A$ ,  $v = v_1^+ - v_1^- + iv_2^- - iv_2^-$ , where  $v_1^+, v_1^-, v_2^+$  and  $v_2^-$  are positive elements (see [2, Lemma 38.8]). Thus, we calculate by (3.19) and the additivity of *H* 

$$H(vx) = H(v_1^+ x - v_1^- x + iv_2^+ x - iv_2^- x)$$
  
=  $H(v_1^+ x) - H(v_1^- x) + iH(v_2^+ x) - iH(v_2^- x)$   
=  $(H(v_1^+) - H(v_1^-) + iH(v_2^+) - iH(v_2^-))h(x)$   
=  $H(v)h(x)$  (3.20)

for all  $v, x \in A$ . By (3.20) and the additivity of *H*, one has

$$H(vx) = \lambda^{-n} H(\lambda^n vx) = \lambda^{-n} H(v\lambda^n x) = \lambda^{-n} H(v) h(\lambda^n x) = H(v) \lambda^{-n} h(\lambda^n x),$$

which yields by taking the limit as  $n \to \infty$ 

$$H(vx) = H(v)H(x) \tag{3.21}$$

for all  $v, x \in \mathcal{A}$ .

It follows from (3.20) and (3.21) that for a given  $u_0$  subject to (3.6)

$$H(u_0)H(x) = H(u_0x) = H(u_0)h(x)$$

for all  $x \in A$ . Since  $H(u_0) = \lim_{n \to \infty} \lambda^{-n} h(\lambda^n u_0) \in \mathcal{B}_{in}$ , we see that H(x) = h(x) for all  $x \in A$ . Hence, the bijective mapping  $h : A \to B$  is a *C*\*-algebra isomorphism, as desired.

THEOREM 3.3. Let  $h : A \to B$  be a bijective mapping with h(0) = 0 satisfying (2.7), (3.2) and (3.3) such that

$$\|h(a\mu x + b\mu y) + h(a\mu x - b\mu y) - 2a\mu h(x)\| \le \varphi(x, y)$$
(3.22)

holds for  $\mu = 1$ , i. Assume that the conditions (3.4)–(3.6) are satisfied, and that h is measurable or h(tx) is continuous in  $t \in \mathbb{R}$  for each fixed  $x \in A$ . Then, the bijective mapping  $h : A \to B$  is a C\*-algebra isomorphism.

*Proof.* Fix  $\mu = 1$  in (3.22). By the same reasoning as in the proof of Theorem 3.1, there exists a unique additive mapping  $H : \mathcal{A} \to \mathcal{B}$  satisfying the equation (1.4) and the inequality (3.7).

By the assumption that *h* is measurable or h(tx) is continuous in  $t \in \mathbb{R}$  for each fixed  $x \in A$ , the mapping  $H : A \to B$  is  $\mathbb{R}$ -linear, that is, H(tx) = tH(x) for all  $t \in \mathbb{R}$  and all  $x \in A$  [12,17,28]. Put  $\lambda = i$  in (3.22). Then applying the same argument to (3.8) as in the proof of Theorem 3.1, we obtain that

$$H(ix) = iH(x),$$

K.-W. Jun et al.

and so for any  $\mu = s + it \in \mathbb{C}$ 

1150

$$H(\mu x) = H(sx + itx) = H(sx) + H(itx) = sH(x) + itH(x) = (s + it)H(x) = \mu H(x)$$

for all  $x \in A$ . Hence, the mapping  $H : A \to B$  is  $\mathbb{C}$ -linear.

The rest of the proof is the same as the proof of Theorem 3.1.

THEOREM 3.4. Let  $h : A \to B$  be a bijective mapping with h(0) = 0 satisfying (2.7), (3.6), (3.14) and (3.15) such that

$$\|h(a\mu x + b\mu y) + h(a\mu x - b\mu y) - 2a\mu h(x)\| \le \varphi(x, y)$$
(3.23)

holds for  $\mu = 1$ , i. Assume that the equations (3.16) and (3.17) are satisfied, and that h is measurable or h(tx) is continuous in  $t \in \mathbb{R}$  for each fixed  $x \in A$ . Then, the bijective mapping  $h: \mathcal{A} \rightarrow \mathcal{B}$  is a C\*-algebra isomorphism.

*Proof.* The proof is the similar to that of Theorem 3.3.

#### 4. Derivations mapping into the radicals of Banach algebras

Throughout this section, assume that  $\mathcal{A}$  is a complex Banach algebra with norm  $\|\cdot\|$ . As an application, we are going to investigate the stability of derivations on Banach algebras and to consider the range of derivations on Banach algebras.

LEMMA 4.1. Let  $h: \mathcal{A} \to \mathcal{A}$  be a mapping satisfying h(0) = 0 for which there exist a mapping  $\varphi: \mathcal{A}^2 \to \mathbb{R}^+$  satisfying (2.7) and a mapping  $\psi: \mathcal{A}^2 \to \mathbb{R}^+$  satisfying

$$\lim_{n \to \infty} \frac{\psi(\lambda^n x, \lambda^n y)}{|\lambda|^{2n}} = 0$$
(4.1)

for all  $x, y \in X$ , where  $\lambda := 2a \neq 1$ , such that

 $\|h(a\mu x + b\mu y) + h(a\mu x - b\mu y) - 2a\mu h(x)\| \le \varphi(x, y),$ (4.2)

$$\|h(xy) - h(x)y - xh(y)\| \le \psi(x, y)$$
(4.3)

for all  $\mu \in S^1 := \{\mu \in \mathbb{C} : |\mu| = 1\}$  and all  $x, y \in \mathcal{A}$ . Then, there exists a unique  $\mathbb{C}$ -linear derivation  $H : \mathcal{A} \rightarrow \mathcal{A}$  which satisfies the inequality

$$\|h(x) - H(x)\| \le \frac{1}{|\lambda|} \sum_{i=0}^{\infty} \frac{\varphi\left(\lambda^{i} x, \frac{a}{b} \lambda^{i} x\right)}{|\lambda|^{i}}$$

$$(4.4)$$

for all  $x \in A$ .

*Proof.* By the same reasoning as in the proof of Theorem 3.1, there exists a unique  $\mathbb{C}$ -linear mapping  $H : \mathcal{A} \to \mathcal{A}$ , defined by  $H(x) := \lim_{n \to \infty} \lambda^{-n} h(\lambda^n x)$ , satisfying the equation (1.4) and the functional inequality (4.4).

Extended Hyers–Ulam stability 1151

Replacing x and y in (4.3) by  $\lambda^n x$  and  $\lambda^n y$ , respectively, and dividing the result by  $|\lambda|^{2n}$ , we obtain

$$\left\|\frac{h(\lambda^{2n}xy)}{\lambda^{2n}} - \frac{h(\lambda^n x)}{\lambda^n}y - x\frac{h(\lambda^n y)}{\lambda^n}\right\| \le \frac{\psi(\lambda^n x, \lambda^n y)}{|\lambda|^{2n}}$$

for all  $x, y \in A$ . Taking the limit in the last inequality, one obtains that

$$H(xy) - H(x)y - xH(y) = 0$$

for all  $x, y \in \mathcal{A}$  because  $\lim_{n\to\infty} (\psi(\lambda^n x, \lambda^n y)/|\lambda|^{2n}) = 0$  and  $\lim_{n\to\infty} (h(\lambda^{2n} xy)/\lambda^{2n}) = H(xy)$ . Thus, the mapping  $H : \mathcal{A} \to \mathcal{A}$  is a unique  $\mathbb{C}$ -linear derivation satisfying the functional inequality (4.4).

LEMMA 4.2. Let  $h: A \to A$  be a mapping satisfying h(0) = 0 for which there exist a mapping  $\varphi: A^2 \to R^+$  satisfying (2.10) and a mapping  $\psi: A^2 \to R^+$  satisfying

$$\lim_{n\to\infty} |\lambda|^{2n} \psi\left(\frac{x}{\lambda^n}, \frac{y}{\lambda^n}\right) = 0$$

for all  $x, y \in X$ , where  $\lambda \coloneqq 2a \neq 1$ , such that

 $\|h(a\mu x + b\mu y) + h(a\mu x - b\mu y) - 2a\mu h(x)\| \le \varphi(x, y),$  $\|h(xy) - h(x)y - xh(y)\| \le \psi(x, y)$ 

for all  $\mu \in S^1 := \{\mu \in \mathbb{C} : |\mu| = 1\}$  and all  $x, y \in A$ . Then, there exists a unique  $\mathbb{C}$ -linear derivation  $H : A \to A$  which satisfies the inequality

$$\|h(x) - H(x)\| \le \frac{1}{|\lambda|} \sum_{i=1}^{\infty} |\lambda|^{i} \varphi\left(\frac{x}{\lambda^{i}}, \frac{a}{b} \frac{x}{\lambda^{i}}\right)$$

for all  $x \in A$ .

COROLLARY 4.3. Let  $p, \alpha, \beta$  be reals such that either p < 1,  $\alpha + \beta < 2$ ,  $1 < |\lambda := 2a|$  or p > 1,  $\alpha + \beta > 2$ ,  $1 > |\lambda := 2a| > 0$ . Assume that  $h : A \to A$  is a mapping satisfying h(0) = 0 for which there exist nonnegative constants  $\varepsilon_1$ ,  $\varepsilon_2$ , such that

 $\|h(a\mu x + b\mu y) + h(a\mu x - b\mu y) - 2a\mu h(x)\| \le \varepsilon_1(\|x\|^p + \|y\|^p),$  $\|h(xy) - h(x)y - xh(y)\| \le \varepsilon_2 \|x\|^{\alpha} \|y\|^{\beta}$ 

for all  $\mu \in S^1 := \{\mu \in \mathbb{C} : |\mu| = 1\}$  and all  $x, y \in A$ . Then, there exists a unique  $\mathbb{C}$ -linear derivation  $H : A \to A$  which satisfies the inequality

$$||h(x) - H(x)|| \le \frac{\varepsilon_1 ||x||^p \left(1 + \left|\frac{a}{b}\right|^p\right)}{||\lambda| - |\lambda|^p|}$$

for all  $x \in A$ .

LEMMA 4.4. Let  $h : A \to A$  be a linear mapping for which there exists a mapping  $\psi : A^2 \to R^+$  satisfying either

$$\lim_{n \to \infty} \frac{\psi(\lambda^n x, \lambda^n y)}{|\lambda|^{2n}} = 0 \quad or, \quad \lim_{n \to \infty} |\lambda|^{2n} \psi\left(\frac{x}{\lambda^n}, \frac{y}{\lambda^n}\right) = 0$$

for all  $x, y \in X$ , where  $\lambda \coloneqq 2a \neq 0, 1$ , such that

$$\|h(xy) - h(x)y - xh(y)\| \le \psi(x, y)$$

for all  $x, y \in A$ . Then, the mapping h is in fact a derivation on A.

*Proof.* Taking  $\varphi(x, y) := 0$  in the previous two lemmas, then we have the desired result.  $\Box$ 

THEOREM 4.5. Let A be a commutative Banach algebra. Let  $h : A \to A$  be a given linear mapping and an approximate derivation with difference Dh bounded by  $\psi$ , that is, there exists a mapping  $\psi : A \times A \to R^+$  such that

$$\|Dh(x,y) \coloneqq h(xy) - h(x)y - xh(y)\| \le \psi(x,y)$$
(4.5)

for all  $x, y \in A$ . Assume that there exists a nonzero real number  $\lambda$  with  $\lambda \neq 1$  such that the limit

$$\lim_{n \to \infty} \frac{\psi(\lambda^n x, \lambda^n y)}{|\lambda|^{2n}} = 0 \quad \left(\lim_{n \to \infty} |\lambda|^{2n} \psi\left(\frac{x}{\lambda^n}, \frac{y}{\lambda^n}\right) = 0, respectively\right)$$
(4.6)

for all  $x, y \in A$ . Then, the mapping h is in fact a linear derivation and maps the algebra into its radical.

*Proof.* By Lemma 4.4, the mapping h is in fact a linear derivation and maps the algebra into its radical by Thomas' result [30].

It is well-known that all linear derivations on commutative semi-simple Banach algebras are zero [30]. We remark that every linear mapping h on a commutative semi-simple Banach algebra, which is an approximate derivation satisfying (4.5) and (4.6), is also zero.

#### References

- Aczél, J., 1966, Lectures on Functional Equations and their Applications (New York and London: Academic Press).
- [2] Bonsall, F. and Duncan, J., 1973, Complete Normed Algebras (New York, Heidelberg and Berlin: Springer-Verlag).
- [3] Bourgin, D.G., 1951, Classes of transformations and bordering transformations. Bulletin of the American Mathematical Society, 57, 223–237.
- [4] Cholewa, P.W., 1984, Remarks on the stability of functional equations. Aequationes Mathematicae, 27, 76–86.
- [5] Fenyö, I., 1987, On an inequality of P.W. Cholewa. *General Inequalities* (Basel-Boston, MA: Birkhäuser), Vol. 5, Internat. Schriftenreiche Numer. Math. Vol. 80, pp. 277–280.
- [6] Forti, G.L., 1995, Hyers–Ulam stability of functional equations in several variables. Aequationes Mathematicae, 50, 143–190.
- [7] Gajda, Z. and Ger, R., 1987, Subadditive multifunctions and Hyers-Ulam stability. *General Inequalities* (Basel-Boston, MA: Birkhäuser), Vol. 5, Internat. Schriftenreiche Numer. Math. Vol. 80.
- [8] Găvruta, P., 1994, A generalization of the Hyers–Ulam–Rassias stability of approximately additive mappings. Journal of Mathematical Analysis and Applications, 184, 431–436.

- [9] Găvruta, P., 1999, An answer to a question of John M. Rassias concerning the stability of Cauchy equation. Advances in Equations and Inequalities, Hadronic Math. Series, USA, pp. 67–71.
- [10] Gruber, P.M., 1978, Stability of isometries. *Transactions of the American Mathematical Society*, **245**, 263–277.
- [11] Hyers, D.H., 1941, On the stability of the linear functional equation. *Proceedings of the National Academy of Sciences*, **27**, 222–224.
- [12] Hyers, D.H., Isac, G. and Rassias, Th.M., 1998, *Stability of Functional Equations in Several Variables* (Basel: Birkhäuser).
- [13] Hyers, D.H. and Rassias, Th.M., 1992, Approximate homomorphisms. Aequationes Mathematicae, 44, 125–153.
- [14] Kadison, R.V. and Pedersen, G., 1985, Means and convex combinations of unitary operators. *Mathematica Scandinavica*, **57**, 249–266.
- [15] Kadison, R.V. and Ringrose, J.R., 1983, *Fundamentals of the Theory of Operator Algebras* (New York: Academic Press).
- [16] Malliavin, P., 1997, Stochastic Analysis (Berlin: Springer).
- [17] Rassias, J.M., 1982, On approximation of approximately linear mappings by linear mappings. *Journal of Functional Analysis*, **46**, 126–130.
- [18] Rassias, J.M., 1984, On approximation of approximately linear mappings by linear mappings. *Bulletin of Science and Mathematics*, **108**, 445–446.
- [19] Rassias, J.M., 1989, Solution of a problem of Ulam. Journal of Approximation Theory, 57, 268–273.
- [20] Rassias, J.M., 1992, On the stability of the Euler-Lagrange functional equation. Chinese Journal of Mathematics, 20, 185-190.
- [21] Rassias, J.M., 1994, Complete solution of the multi-dimensional problem of Ulam. *Discuss. Math.*, 14, 101–107.
- [22] Rassias, J.M., 1996, On the stability of the general Euler-Lagrange functional equation. *Demonstratio Math.*, 29, 755–766.
- [23] Rassias, J.M., 1998, Solution of the Ulam stability problem for Euler–Lagrange quadratic mappings. *Journal of Mathematical Analysis and Applications*, 220, 613–639.
- [24] Rassias, J.M., 2002, On the Hyers–Ulam stability problem for quadratic multi-dimensional mappings. *Aequationes Mathematicae*, **64**, 62–69.
- [25] Rassias, J.M. and Rassias, J., 2003, On the Ulam stability of Jensen and Jensen type mappings on restricted domains. *Journal of Mathematical Analysis and Applications*, 281, 516–524.
- [26] Rassias, J.M. and Rassias, M.J., 2005, Asymptotic behavior of alternative Jensen and Jensen type functional equations. *Bulletin of Science and Mathematics*, **129**, 545–558.
- [27] Rassias, J.M., 2007, Refined Hyers–Ulam approximation of approximately Jensen type mappings. Bulletin of Science and Mathematics, 131, 89–98.
- [28] Rassias, Th.M., 1978, On the stability of the linear mapping in Banach spaces. Proceedings of the American Mathematical Society, 72, 297–300.
- [29] Rassias, Th.M., 2000, On the stability of functional equations in Banach spaces. Journal of Mathematical Analysis and Applications, 251, 264–284.
- [30] Thomas, M.D., 1988, The image of a derivation is contained in the radical. *Annals of Mathematics*, **128**, 435–460.
- [31] Ulam, S.M., 1960, A Collection of Mathematical Problems (New York: Interscience Publ.).
- [32] Zhou, D.-X., 1992, On a conjecture of Z. Ditzian. Journal of Approximation Theory, 69, 167–172.